
2 1

OUTDOOR TABLE AND CHAIRSOUTDOOR TABLE AND CHAIRSOUTDOOR TABLE AND CHAIRSOUTDOOR TABLE AND CHAIRS

5 4 3

902-830902-830902-830902-830

2

7

8

1

4

8

6

3

Detail A

ITEM NO.
PART 

NUMBER
DESCRIPTION QTY.

1 913-374 Outdoor Table Top 1

2 913-373 Outdoor Table Post 1

3 913-376 Outdoor Chair Seat 2

4 913-375 Outdoor Chair Post 2

5 316-501 5/16" Flat Washer 12

6 216-512 5/16" x 1" Buttonhead Nut SS 12

7 116-529 5/16" x 3/4" Buttonhead Bolt 12

8 316-601 3/8" Flat Washer 12

9 416-350 3/16" Socket Key 2


